

مشتق از ۲: $g'(u) = (r \tan u \times (1 + \tan^2 u) + (-\sqrt{r} \sin u)) \times f'(\tan^2 u + \sqrt{r} \cos u)$

$\rightarrow g'(\frac{\pi}{4}) = ((2 \times 1 \times 2) + (-1)) \times f'(1+1) \rightarrow \sqrt{3} = 2 f'(2) \rightarrow f'(2) = \frac{\sqrt{3}}{2}$

$f(u) = \frac{1 + \cos u}{r - \cos^2 u}$

$g(u) = \frac{r}{r - \cos u} \rightarrow \frac{r + r \cos u}{r - \cos^2 u}$

$f'(\frac{\sqrt{r}}{4}) - 2g'(\frac{\sqrt{r}}{4}) \rightarrow (f - 2g)'(\frac{\sqrt{r}}{4}) \rightarrow \frac{1 + \cos u}{r - \cos^2 u} - \frac{r(1 + \cos u)}{r - \cos^2 u}$

~~$\frac{r \cos u + r((1 + \cos u) \sin u) + (-\sqrt{r} \sin u)(r - \cos^2 u)}{(r - \cos^2 u)^2} - \frac{r(\cos u + r(1 + \cos u) \sin u) + (-\sqrt{r} \sin u)(r - \cos^2 u)}{(r - \cos^2 u)^2}$~~

$(\frac{\cos^2 u - r \cos u}{r - \cos^2 u})'(\frac{\sqrt{r}}{4}) \rightarrow (\frac{\cos u (\cos^2 u - r)}{r - \cos^2 u})'(\frac{\sqrt{r}}{4}) \rightarrow (-\cos u)'(\frac{\sqrt{r}}{4})$

$\rightarrow \sin u \frac{\sqrt{r}}{4} \rightarrow (-\frac{1}{2})$

مشتق از ۳: $(r u - r) \sqrt{a u} \rightarrow r \sqrt{a u} + \frac{a(r u - r)}{2 \sqrt{a u}}$

در این مسئله، باید حاکمیت را بیند! چون فقط در θ منبسط شوند به آن تفاوت ۱۷۹ است

$\frac{a}{2} \frac{r}{\sqrt{a}} + \sqrt{\frac{r a}{2}} = \sqrt{4} \rightarrow r \sqrt{a} = \sqrt{4} \rightarrow \sqrt{12a} = \sqrt{4} \rightarrow 12a = 4 \rightarrow a = \frac{1}{3}$

$f(a) = g(a) \Rightarrow f(r) = g(r) \rightarrow f(r) = r - r a$
 $f'(a) = g'(a) \Rightarrow f'(r) = g'(r) \rightarrow f'(r) = -a$

$g(u) = a u + r$

$g'(u) = a$

$\rightarrow f(r) + f'(r) \rightarrow r - a a = -1 \rightarrow a a = r \rightarrow a = 0.4$

$f'(r) = -0.4$

$\sqrt{4 - a} = a \xrightarrow{p} \frac{-a}{b} \rightarrow \frac{-(-1)}{1} = \frac{1}{1}$

آنرا فقط مسابا ۱۷۹

$y = \frac{a u - 1}{r u + 1} \rightarrow \frac{a + r}{(r u + 1)^2}$

$\rightarrow \frac{a + r}{r} = \frac{a u - 1}{r u + 1}$

$\rightarrow r a^2 + 14 a + a = r a u - v$

$\rightarrow r a u = r a^2 + 14 a + 12$ I

$\frac{a + r}{(r u + 1)^2} = \frac{1}{r}$

$\rightarrow r a + r = 9 a^2 + 4 a + 1$ III

$\rightarrow r a = 9 a^2 + 4 a - r$ $\rightarrow r a = 9 a^2 + 4 a - r$ II

I, II $\rightarrow 9 a^2 + 4 a - r = 9 a^2 + 4 a + 12$
 $\rightarrow 9 a^2 + 4 a - r = 9 a^2 + 4 a + 12$
 $\rightarrow 9 a^2 + 4 a - 12 a - r = 0$
 $\rightarrow 9 a^2 - 8 a - r = 0$
 مسابا $a = 2$
 III $\rightarrow r a + r = 9 a^2 + 4 a + 12$ $\rightarrow a = 2$

$$f'(a) = 2a^2 + a \quad (9)$$

$$f(1) = 0 \rightarrow 1 + 2a - b = 0$$

$$f'(1) = 0 \rightarrow 1 + a = 0 \xrightarrow{a^2} 1 + 2a = 0 \rightarrow -1 - b = 0 \rightarrow \boxed{b = -1} \quad (2)$$

$$\rightarrow \boxed{a = -1} \rightarrow b - a \rightarrow \boxed{-1} \quad \checkmark$$

$$\lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^2} \xrightarrow{\text{L'Hôpital}} \frac{x^{n+2} \times (n+2) \times x^{n+1}}{1 - \cos x}$$

$$\rightarrow \frac{x^{n+2} \times (n+2)}{1 - \cos x} \rightarrow \frac{n+2}{2} \quad n = -\frac{3}{2}$$

$$\text{هم‌ارزی} \rightarrow f(x) = (x)^{n+2} \quad (7)$$

$$f'(x) = (n+2)(x)^{n+1} \quad (10)$$

$$(1 - \cos x)^2 \rightarrow 1 - \cos x$$

(جواب یابین منفی)

$$\frac{\sqrt{x} + 1}{\sqrt{x} - 1} = 2 \rightarrow \sqrt{x} + 1 = 2(\sqrt{x} - 1) \rightarrow \boxed{x = 9}$$

$$f \rightarrow (9, 2) \quad (1)$$

$$\rightarrow \frac{\sqrt{x} - 1}{2\sqrt{x}} - \frac{\sqrt{x} + 1}{2\sqrt{x}} \rightarrow \frac{-2}{2\sqrt{x}} \rightarrow \boxed{\frac{-1}{\sqrt{x}}} \quad (15)$$

(جواب یابین منفی)

$$x = 9 \rightarrow \boxed{-\frac{1}{3}}$$

$$\boxed{(f^{-1}(1))' \rightarrow -3} \quad \text{جواب}$$

$$\begin{aligned} -1 &\xrightarrow{f} 1(1-a) \rightarrow 1 - 1a \\ 0 &\xrightarrow{f} 1(1) = 1 \end{aligned} \left\{ \begin{aligned} &\frac{v-1a}{f-1} = 11 \rightarrow \boxed{a = -\frac{1}{2}} \end{aligned} \right. \quad (9)$$

$$\boxed{1, 1.5}$$

$$x = -2a \rightarrow \boxed{x = 1} \rightarrow f' \rightarrow 3 \times 2a \times (a^2 + 1)^2 (a^2 + 1) + a(a^2 + 1)^3$$

$$\rightarrow \frac{3 \times 2 \times \frac{1}{2} + 1a}{2a} \rightarrow 2a - 1 = 10 \quad 12 - 1 = 11$$

$$\begin{aligned} \frac{\pi}{2} &\xrightarrow{f} 0 \\ \frac{\pi}{2} &\xrightarrow{f} -1 \end{aligned} \rightarrow \frac{0 - (-1)}{-\frac{\pi}{2}} \rightarrow \boxed{\frac{-1}{\pi}}$$

$$\begin{aligned} f &\rightarrow \sin x \cos 2x \\ g &\rightarrow \sin^2 x - \cos^2 x \\ &\rightarrow -\cos 2x \end{aligned}$$

$$\begin{aligned} \frac{\pi}{2} &\rightarrow 0 \\ \frac{\pi}{2} &\rightarrow 1 \end{aligned} \rightarrow \frac{0 - 1}{-\frac{\pi}{2}} = \boxed{\frac{2}{\pi}}$$

$$\boxed{\frac{\text{دری}}{\text{دو}} = -1} \quad \checkmark$$

$$\boxed{2}$$

مسألة ١٧

$$\lim_{a \rightarrow 0} \frac{\sin^n(a^r) \times n \sin^{n-1}(a^r) \times \cos(a^r) \times (r a^{r-1})}{(r \sin^r \frac{a}{r})^m} \xrightarrow{\text{Simp}} \lim_{a \rightarrow 0} \frac{(a^r)^n n (a^r)^{n-1} \times r a^{r-1}}{(r (\frac{a}{r})^r)^m} =$$

$$\lim_{a \rightarrow 0} \frac{r n a^{rn+r-1}}{(r \frac{a^r}{r})^m} = \lim_{a \rightarrow 0} \frac{r n a^{rn+r-1}}{\frac{1}{r^m} a^{rm}} = \lim_{a \rightarrow 0} r^{m+1} n a^{rn-rm-1} \rightarrow \text{نحتاج أن نجعل الأس صفر}$$

$$\begin{cases} rn - rm - 1 = 0 \rightarrow n = \frac{rm+1}{r} \rightarrow r^{m+1} \times \frac{rm+1}{r} = r^m \sqrt{r} \rightarrow (rm+1) r^m = r^m \sqrt{r} \rightarrow m = \frac{r}{r} \\ r^{m+1} n = r^m \sqrt{r} \end{cases} \quad rm+n=9 \quad n=r$$

مسألة ١٨

$$f(x) = \frac{\sqrt{x+1}}{\sqrt{x}-1} \rightarrow \sqrt{x}y - y = \sqrt{x}+1 \rightarrow \sqrt{x}(y-1) = y+1 \rightarrow \sqrt{x} = \frac{y+1}{y-1} \rightarrow x = \left(\frac{y+1}{y-1}\right)^2 \rightarrow y = \left(\frac{x+1}{x-1}\right)^2$$

$$f^{-1}(x) = \left(\frac{x+1}{x-1}\right)^2 \rightarrow (f^{-1})' = 2 \left(\frac{x+1}{x-1}\right) \times \frac{-r}{(x-1)^2} \rightarrow (f^{-1}(r))' = 2 \times 2 \times (-1) = -12$$